$\frac{(x_{1})^{2}}{(x_{2})^{2}} = -csc(x)$ $\frac{(x_{2})^{2}}{(x_{1})^{2}} = -csc(x)$ $\frac{(x_{2})^{2}}{(x_{2})^{2}} = -csc(x)$ $\frac{(x$

and sech (z) = In $(1 \pm \sqrt{(1-z^2)/z}) = R_{m-1} + \frac{m^2}{2}$

NAME: ABBIE ROMANO

COURSE: CIVIL ENGINEERING

GRADUATED: 2017

OCCUPATION: PHD RESEARCHER

DEPARTMENT: DEPARTMENT OF CIVIL ENGINEERING

I really do love my job as it offers the opportunity to work on something that no one in the world is doing, and how often can you say you are a world leader on something?! If you want to do something — just go for it, don't let anything hold you back.



